Y4 Mr Brown/ Miss Smalley Maths 13th – 17 th July 2020 
Monday 13th July 2020

Complete the multiplication grid below and record how long it takes you. 
	X
	2
	3
	4
	5
	6
	7
	8
	9
	11
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Arithmetic 
1.  300 ÷ 4 =                  		              2.    445 x 2 = 
                 
 




3. 5,320 + 2,916 =                                           4. 4,320 – 3,329 = 








5. 476 ÷ 4 =                                                     6.  218 x 3 = 







7. 5,539 + 600 =                                                8. 8,328 – 2,857 = 
	Date: 14.7.2020

	LO: To be able to multiply a 2-digit number by a 1-digit number. 

	

	Select Summer term - Week 3 Lesson 1 for the video clip to support your learning  https://whiterosemaths.com/homelearning/year-4/


	[image: ]
1. 














[image: ]












[image: ]

[image: ]








	Reasoning and problem solving
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Answers:
https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y4-Lesson-1-Answers-Multiply-2-digits-by-1-digit-2019.pdf






	Date: 15.8.2020

	LO: To be able to multiply a 3-digit number by a 1 digit number. 

	Select Summer term - Week 3 Lesson 2 for the video clip to support your learning  https://whiterosemaths.com/homelearning/year-4/


	

	[image: ]
1. 















	Reasoning and problem solving
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Answers 

https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/05/Y4-Lesson-2-Answers-Multiply-3-digits-by-1-digit-2019.pdf




Thursday 16th July 2020.
Complete the multiplication grid below and record how long it takes you. Try and beat your time from Monday.
	X
	4
	9
	2
	5
	11
	7
	8
	3
	6
	12
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Arithmetic 

1. 424 ÷ 8 =                            2. 721 x 5 = 



3. 946 + 884 =                       4. 2,198 – 1,144 = 





5. 243 ÷ 9 =                             6. 882 x 6 = 



7. 5,433 + 2,885 =                  8. 6,540 – 3,228 = 



9. 238 ÷ 7 =                             10. 172 x 6 = 



11. 8,298 + 7,759 =               12. 302 – 194 = 










Friday 17th July 2020.
Watch the video Friday Maths Challenge:
- https://whiterosemaths.com/homelearning/year-4/ 
Select Summer term - Week 3 Lesson 5 for the video clip to support your learning.
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' Dani uses a different written method to work out 8 x 42
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BN

Talk about Dani’s method with a partner.
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Use Dani’s method to work out 3 x 27
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Use a written method to complete the multiplications.

a) 38x6= ) 45x9=

b) 71 x3= d) 52 x5
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e 29x8=

0 17x4=





image8.png
Class 4 is selling tickets for a play.
Tickets cost £5 per person.
56 tickets have been sold so far.

How much money has Class 4 collected?

Rosie buys 8 bunches of flowers. Each bunch has 17 flowers.
How many flowers does she have altogether?
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Complete the multiplication.
Use the place value chart to help you.
(e 7 + [
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Ron and Teddy are working out 5 x 245

T know the answer
will be greater than
1,000 because I know
5 x 200 is 1,000

'

I know the answer
should end in 5 because I
know 5 x 5 is 25

@) Who is correct? Circle your answer.

Ron Teddy both

05
A

neither
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There are 7 year groups in a school.
There are 112 children in each year group.

How many children are there in the whole school?

A banana weighs 140 g
A pineapple weighs 345 g

Bag A contains 8 bananas and bag B contains 3 pineapples.

Which bag weighs more and by how much?
Show your working.
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Bag weighs g more than bag
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Clue-Dough Cake

QL Here is a tangram

(a) What shapes can you see?

(b) What ways can you sort your shapes?2
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Q2

Q3

Cut out your cake so it looks like the tangram

Can youmake any of the following shapes?

A boat A cat A house

What other shapes can you make?
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Q4. What fraction of the whole shape is shaded here?

Shade in more of the diagram so 75/.is shaded.
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